TEX

MIXLATIVE

THL Lin< mp A

Oz *# Ol EXF L LD

| X 2 = | X 8 =
| X 5 = | X 4 =
| X 6 = | X G =
| X | = | X 3 =
| X g = | X 2 =
| X 8 = | X 5 =
| X 4 = | X | =
| X 3 = | X 6 =
| X 2 = | X 7 =
| X 7T = | X 4 =

3 E KIS
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MEIXLATIVE

THL Lin< mp A

Oz *# Ol EXF L LD

2 X 3 = 2 X 5 =
2 X T = 2 X | =
2 X | = 2 X q =
2 X 4 = 2 X 3 =
2 X 9 = 2 X 4 =
2 X 2 = 2 X 6 =
2 X b = 2 X 2 =
2 X 6 = 2 X T =
2 X 8 = 2 X 5 =
2 X T = 2 X 8 =

3 E KIS

https://noutorekids. net



TEX

MIXLATIVE

[ A

SONT=ke

THL Lin< mp A

Oz *# Ol EXF L LD

3 X | = 3 X 8=
3 X 3= 3 X 4 =
3 X 6 = 3 X 2=
3 X 8= 3 X 7=
3 X 4 = 3 X | =
3 X 9= 3 X 5 =
3 X 7= 3 X 6=
3 X 5= 3 X 3=
3 X 2= 3 X 9=
3 X 4 = J X 8 =

3 E KIS

https://noutorekids. net



MEIXLATIVE

THL Lin< mp A

Oz *# Ol EXF L LD

4 X 5 = 4 X | =
4 X 2 = 4 X 4 =
4 X 7 = 4 X 7T =
4 X 3 = 4 X 5 =
4 X q = 4 X 6 =
4 X 8 = 4L X 2 =
4 X | = 4 X 8 =
4 X 6 = 4 X 4 =
4 X 4 = 4 X 9 =
4 X 7 = 4h X 3 =

3 E KIS

https://noutorekids. net



MEIXLATIVE

THL Lin< mp A

Oz *# Ol EXF L LD

h X 2 = b X b =
5 X 4 = b X 3 =
5 X 6 = 5 X 2 =
b X | = b X T =
5 X T = 5 X 4 =
5 X g = 5 X 8 =
5 X 5 = b X 6 =
b X 3 = b X | =
5 X 8 = 5 X 4 =
5 X 2 = b X @ =

3 E KIS

https://noutorekids. net



MEIXLATIVE

THL Lin< mp A

Oz *# Ol EXF L LD

6 X | = 6 X 2 =
6 X 3 = 6 X 4 =
6 X 6 = 6 X 9 =
6 X 2 = 6 X 8 =
6 X 7= 6 X | =
6 X 5 = 6 X 5 =
6 X 4 = 6 X 3 =
6 X 4 = 6 X 4 =
6 X 6 = 6 X 7=
6 X 8 = 6 X 5 =

3 E KIS
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MIFLATIVR] T EX

[ A
|

Oz *# Ol EXF L LD

7T X 2 = 7T X 8 =
T X 4 = 7 X 3 =
7T X 6 = 7T X 9 =
T X | = 7T X 2 =
7 X 1 = 7 X 4 =
7 X b = T X | =
7 X 3 = 7T X g =
7T X 8 = T X 6 =
7T X 2 = 7 X 5 =
7T X T = T X 4 =

3 E KIS

https://noutorekids. net



MIFLATIVR] T EX

[ A
-]

Oz *# Ol EXF L LD

8 X 4 = 8 X 8 =
8 X 5 = &8 X 3 =
8 X 2 = 8 X | =
8§ X T = 8 X 4 =
8§ X q = &8 X 6 =
8 X | = 8 X 2 =
&8 X 8 = 8§ X q =
8§ X 3 = 8§ X 5 =
8 X 6 = & X T =
8 X T = 8 X | =

3 E KIS

https://noutorekids. net



TEX

MIXLATIVE

THL Lin< mp A

Oz *# Ol EXF L LD

g X 3 = g X 4 =
g X | = 9 X 6 =
g X 5 = g X g =
g X 2 = 9 X 8 =
9 X 3= 9 X | =
9 X T = 9 X b =
9 X 9 = 9 X 3 =
g X 4 = 9 X 2 =
9 X 6 = 9 X 7=
9 X 8= 9 X q =

3 E KIS

https://noutorekids. net



